Introductory #6
What do doctors try to do to sick people? Solve this riddle to find out.


Start with the number of protons in the elements your lungs use when you breathe in.


Add to it the number of neutrons in Carbon-14.


Multiply by the number of electrons in Al3+.

Divide by the atomic number of Be.

Add to it the number of protons in Krypton.

Add to it the number of neutrons in Calcium-40.

Find the element that corresponds to that atomic number and you will find out what doctors try to do to sick people!
